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M. A. (ECONOMICS) (MEC) 

Term-End Examination 

June, 2024 

MEC–002 : MACROECONOMIC ANALYSIS 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from both the Sections as 

per instructions. 

Section—A 

Note : Answer any two questions from this Section 

in about 700 words each. 2×20=40 

1. “An economy with flexible exchange rate and 

perfect capital mobility should rely more on 
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monetary policy.” Do you agree with this 

statement ? Support your answer with 

appropriate diagrams. 

2. Explain how equilibrium is achieved in the 

goods market and the money market 

simultaneously. Use appropriate diagram to 

illustrate your answer. 

3. What is meant by real rigidities in an  

economy ? Why do real rigidities occur in wage 

rate and price level ?  

4. Bring out the salient features  

of the Solow model. Explain how  

steady state is maintained when population 

growth and technical progress are  

taking place.  
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Section —B 

Note : Answer any five questions from this Section 

in about 250 words each. 5×12=60 

5. Explain the possible advantages of a macro-

economic model with micro-foundation and 

rational expectations. 

6. Explain the relationship between inflation and 

unemployment in an economy. 

7. Explain why growth rates in economies may 

converge. In this context, distinguish between 

absolute convergence and conditional 

convergence. 

8. What is meant by endogenous growth ? Briefly 

discuss any one of the endogenous growth 

models. 
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9. Discuss how the permanent income hypothesis 

reconciles the Kuznet’s puzzle on the 

relationship between consumption and income. 

10. Critically examine why policy rules should be 

time-consistent. 

11. Describe the salient features of life cycle 

hypothesis. 

12. Write short notes on the following : 

(a) Political Business Cycle 

(b) Real Business Cycle  
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